

$$(1a) \lim_{x \rightarrow 0} \frac{e^{ax} - e^{bx}}{\sin ax - \sin bx}; \quad a \neq b \in \mathbb{R}.$$

$$f(x) = e^{ax} - e^{bx} \rightarrow 1 - 1 = 0, \quad x \rightarrow 0$$

$$g(x) = \sin ax - \sin bx \rightarrow 0, \quad x \rightarrow 0$$

Pozn.:  $g'(0) = a \cos 0 - b \cos 0 = a - b \neq 0$

$\Rightarrow g(x) \neq g(0) = 0$  no jinehm P(0).

l'Hôz. syp  $\frac{0}{0}$ :  $\frac{f'(x)}{g'(x)} = \frac{a \cdot e^{ax} - b e^{bx}}{a \cdot \cos ax - b \cos bx} \rightarrow \frac{a-b}{a-b} = 1.$

$$(1b) \lim_{x \rightarrow \infty} \frac{\ln(x^2 - x + 1)}{\ln(x^{10} + x - 10)}$$

$$x^{10} + x - 10 = x^{10} \left( 1 + \frac{1}{x^9} - \frac{10}{x^{10}} \right) \rightarrow \infty^{10} \left( 1 + \frac{1}{\infty^9} - \frac{10}{\infty^{10}} \right) = \infty$$

$\ln y \rightarrow \infty, y \rightarrow \infty$ : VoLSF: cítel  $\rightarrow +\infty$

l'Hôz. syp  $\frac{\infty}{\infty}$ :

$$\frac{f'(x)}{g'(x)} = \frac{\frac{2x-1}{x^2-x+1}}{\frac{10x^9+1}{x^{10}+x-10}} = \frac{(2x-1)(x^{10}+x-10)}{(10x^9+1)(x^2-x+1)} \cdot \frac{1}{x^{10}}$$

$$= \frac{\left(2 - \frac{1}{x}\right) \left(1 + \frac{1}{x^{10}} - \frac{10}{x^9}\right)}{\left(10 + \frac{1}{x^9}\right) \left(1 - \frac{1}{x} + \frac{1}{x^2}\right)} \rightarrow \frac{2 \cdot 1}{10 \cdot 1} = \frac{1}{5}, \quad x \rightarrow +\infty$$

dle VoAL

(1c)  $\lim_{x \rightarrow 0} \frac{\arcsin x - x}{x - \sin x}$ ; *simil' l'hoz. "0/0"*

$$\frac{f'(x)}{g'(x)} = \frac{\frac{1}{\sqrt{1-x^2}} - 1}{1 - \cos x} = \frac{1}{\sqrt{1-x^2}} \cdot \frac{-x^2}{1 - \cos x} \rightarrow -2$$

$\rightarrow 1 \quad \rightarrow -2$

dle VoAL a rokledu limity:  $\frac{1 - \cos x}{x^2} \rightarrow \frac{1}{2}, x \rightarrow 0$

(1d)  $\lim_{x \rightarrow +\infty} x \left( \arcsin x - \frac{\pi}{2} \right) = \lim_{x \rightarrow +\infty} \frac{\arcsin x - \frac{\pi}{2}}{\frac{1}{x}}$

*l'hoz. "0/0"*:  $\frac{f'(x)}{g'(x)} = \frac{\frac{1}{\sqrt{1-x^2}}}{-\frac{1}{x^2}} = -\frac{x^2}{\sqrt{1-x^2}} = -\frac{1}{\frac{1}{x^2} + 1} \rightarrow -1$

$x \rightarrow +\infty$ .

(1e)  $\left( \frac{\sin x}{x} \right)^{\frac{1}{x^2}} = \exp h(x); h(x) = \frac{\ln \left( \frac{\sin x}{x} \right)}{x^2} = \frac{\ln \sin x - \ln x}{x^2}$

$\frac{\sin x}{x} \rightarrow 1; f(x) = \ln \left( \frac{\sin x}{x} \right) \rightarrow \ln 1 = 0$

$x \rightarrow 0$

$g(x) = x^2 \rightarrow 0;$

*l'hoz. "0/0"*:  $\frac{f'(x)}{g'(x)} = \frac{\frac{\cos x}{\sin x} - \frac{1}{x}}{2x} = \frac{x \cos x - \sin x}{2x^2 \sin x}$

*2. l'hoz. "0/0"*:  $\frac{f''(x)}{g''(x)} = \frac{\cos x - x \sin x - \cos x}{4x \sin x + 2x^2 \cos x}$

$= -\frac{x \cdot \sin x}{4x \sin x + 2x^2 \cos x} = \frac{-1}{4 + 2 \cos x \left( \frac{x}{\sin x} \right)} \rightarrow \frac{-1}{4 + 2 \cdot 1 \cdot 1} = -\frac{1}{6}$

$x \cdot \sin x \neq 0$  me  $P(0)$

$$(18) \left( \frac{4 \arcsin x}{\pi} \right)^{\frac{1}{\arccos^2 x}} = \exp h(x); \quad h(x) = \frac{\ln \left( \frac{4 \arcsin x}{\pi} \right)}{\arccos^2 x}$$

$$x \rightarrow 1^-$$

$$\arccos x \rightarrow \arccos 1 = 0, \quad x \rightarrow 1^-$$

$$\arcsin x \rightarrow \arcsin 1 = \frac{\pi}{4}, \quad \text{aj. sz. sz. } \frac{0}{0}$$

$$f'(x) = \left( \ln(\arcsin x) + \ln \frac{4}{\pi} \right)' = \frac{1}{(1+x^2)} \cdot \frac{1}{\arcsin x}$$

$$g'(x) = \left( \arccos^2 x \right)' = 2 \arccos x \cdot \frac{-1}{\sqrt{1-x^2}}$$

$$\frac{f'(x)}{g'(x)} = \frac{1}{1+x^2} \cdot \frac{1}{\arcsin x} \cdot \left( \frac{-2 \arccos x}{\sqrt{1-x^2}} \right)^{-1}$$

$$\rightarrow \frac{1}{2} \quad \rightarrow \frac{4}{\pi}$$

$$\text{aj. sz. sz. } \lim_{x \rightarrow 1^-} \frac{\arccos x}{\sqrt{1-x^2}}; \quad \text{aj. sz. sz. } \frac{0}{0}$$

$$\frac{\tilde{f}'(x)}{\tilde{g}'(x)} = \frac{(\arccos x)'}{(\sqrt{1-x^2})'} = \frac{-\frac{1}{\sqrt{1-x^2}}}{\frac{-x}{\sqrt{1-x^2}}} = \frac{1}{x} \rightarrow 1; \quad x \rightarrow 1^-$$

$$\text{eredmeny: } h(x) \rightarrow \frac{1}{2} \cdot \frac{4}{\pi} \cdot (-2)^{-1} = \underline{\underline{-\frac{4}{\pi}}}$$

$$(1g) \frac{x^a}{e^{bx}}; a, b > 0 \text{ reelles}; x \rightarrow +\infty$$

$$e^{bx} \rightarrow +\infty, y \rightarrow +\infty; \text{L'Hôpital's rule } \frac{\infty}{\infty}$$

$$e' \text{Hôpital: } \frac{ax^{a-1}}{b \cdot e^{bx}}; \text{ - using rule, operation m times, } b \text{ re } m > a.$$

$$\frac{a \cdot (a-1) \cdots (a-m+1) x^{a-m}}{b^m e^{bx}} \rightarrow c \cdot \frac{0}{+\infty} = 0$$

c

$$\text{note } x^{a-m} \rightarrow 0 \text{ (repeating)}$$

$$x \rightarrow +\infty$$

exponent  
meaning

$$(1h) (\sin x)^{\frac{\pi}{\ln x}} = \exp h(x); h(x) = \frac{\pi \cdot \ln(\sin x)}{\ln x};$$

$$\text{rule } \frac{\cos x}{-\infty}; e' \text{Hôpital.}$$

$$x \rightarrow 0+$$

$$\frac{\pi \cdot \frac{\cos x}{\sin x}}{\frac{1}{x}} = \pi \cdot \cos x \cdot \frac{x}{\sin x} \rightarrow \pi \cdot 1 \cdot 1 = \pi$$

die relat. limits pro  $\sin x$   
a major  $\cos x \approx 0$ .